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1. 0b Revia Notes
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1. Ob Notes (Cont.)
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a " a " = a " m

a's à"

(ab)" = a"6"

a " =
a n

1  -  m
= ?

m

(a" )

ex multiply
EXI 3 ° × 9 8

=3"X(34)8

=3'×316

= 3 ' 3 1 6

=310+16

3 %

t , + ,  x

p l u s
t e e

d e e - 2
t w o

Z
1

X w/o
crossing

6,6 , 6, 6,0



N o t e s . . .

31711

E X

a

7 . 3
= a

= a

= 0 2 * 3

=  a a

a  y a

4 ?" 4) = 24%



E X

=

=

=

Notes 1.0b (cont.)

- ? 5

(y ")
-3/5

3. (-%)

(2")
- 3 5

1 0 . ( - % )

-15 ?°
3

4 5
J

3

, 1+ /5

& 6

§ly"

4/5



E

1.0b Notes (cont.)

Rationalizing Expression
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